#### **ARLINGTON HATCHERY**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH PUGET SOUND

Brood Year: 2020

Species: Cutthroat

Run: Resident Coastal

Stock: EELLS SPRINGS HATCH STOCK

Brood Origin: HATCHERY

Integrated/Segregated:

|          | Total # | <b>Total Pounds</b> |
|----------|---------|---------------------|
| Egg Take |         |                     |
| Shipping | 500     | 0                   |
| Received |         |                     |
| Planted  | 10,000  | 22                  |

# **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

| Shipped or Received | Start Date | End Date | Facility             | Number | FPP | <b>Total Pounds</b> | Life Stage |
|---------------------|------------|----------|----------------------|--------|-----|---------------------|------------|
| Shipped             | 01/2020    | 01/2020  | EAGLE CR ES(ARLINGTO | 500    |     | 0                   | EGGS EYED  |

### **Estimated Release Data**

| Start Date | End Date | Num Release | FPP   | <b>Total Pounds</b> | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-------|---------------------|------------|--------------|-----------|--------|
| 07/2020    | 10/2020  | 10,000      | 450.0 | 22                  | JUVENILE   | REG 4 LAKES  |           |        |

Memo: Program implementation is dependent on legal authority and funding. Planted into Reg. 4 Alpine Lakes.

#### **ARLINGTON HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2021

**Species:** Cutthroat

Run: Resident Coastal

Stock: EELLS SPRINGS HATCH STOCK

Brood Origin: HATCHERY

Integrated/Segregated:

|          | Total # | <b>Total Pounds</b> |
|----------|---------|---------------------|
| Egg Take |         |                     |
| Shipping | 30,250  | 120                 |
| Received | 162,000 | 0                   |
| Planted  | 110,000 | 522                 |

# **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

| Shipped or Received | Start Date | End Date | Facility           | Number  | FPP   | <b>Total Pounds</b> | Life Stage |
|---------------------|------------|----------|--------------------|---------|-------|---------------------|------------|
| Received            | 12/2020    | 01/2021  | EELLS SPRINGS      | 12,000  |       | 0                   | EGGS GREEN |
| Shipped             | 01/2021    | 01/2021  | DARRINGTON SD 330  | 250     |       | 0                   | EGGS EYED  |
| Received            | 01/2021    | 01/2021  | EELLS SPRINGS      | 150,000 |       | 0                   | EGGS EYED  |
| Shipped             | 05/2021    | 05/2021  | WALLACE R HATCHERY | 30,000  | 250.0 | 120                 | JUVENILE   |

#### **Estimated Release Data**

| Start Date | End Date | Num Release | FPP   | <b>Total Pounds</b> | Life Stage | Release Site       | Mark Type | Tagged |
|------------|----------|-------------|-------|---------------------|------------|--------------------|-----------|--------|
| 05/2021    | 05/2021  | 20,000      | 200.0 | 100                 | JUVENILE   | ISLAND CO LAKES    |           |        |
| 05/2021    | 05/2021  | 10,000      | 200.0 | 50                  | JUVENILE   | SKAGIT CO LAKES    |           |        |
| 05/2021    | 05/2021  | 70,000      | 200.0 | 350                 | JUVENILE   | SNOHOMISH CO LAKES |           |        |
| 07/2021    | 10/2021  | 10,000      | 450.0 | 22                  | JUVENILE   | REG 4 LAKES        |           |        |

Memo: Program implementation is dependent on legal authority and funding. Planted into Reg. 4 Alpine Lakes.

### **BERNIE GOBIN HATCH**

**TULALIP TRIBE** 

#### NORTH PUGET SOUND

**Brood Year:** 2020

**Species:** Cutthroat

Run: Resident Coastal

Stock: EELLS SPRINGS HATCH STOCK

**Brood Origin:** HATCHERY

Integrated/Segregated:

|          | Total # | <b>Total Pounds</b> |
|----------|---------|---------------------|
| Egg Take |         |                     |
| Shipping |         |                     |
| Received | 8,000   | 400                 |
| Planted  | 2,600   | 1,300               |

# **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

| Shipped or Received | Start Date | End Date | Facility           | Number | FPP  | <b>Total Pounds</b> | Life Stage |
|---------------------|------------|----------|--------------------|--------|------|---------------------|------------|
| Received            | 11/2020    | 11/2020  | WALLACE R HATCHERY | 8,000  | 20.0 | 400                 | JUVENILE   |

### **Estimated Release Data**

| Start Date | End Date | Num Release | FPP | <b>Total Pounds</b> | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|--------------|-----------|--------|
| 02/2022    | 02/2022  | 2,600       | 2.0 | 1,300               | JUVENILE   | TRIBAL COOP  |           |        |

Memo:

### **BERNIE GOBIN HATCH**

**TULALIP TRIBE** 

#### NORTH PUGET SOUND

**Brood Year:** 2021

**Species:** Cutthroat

Run: Resident Coastal

Stock: EELLS SPRINGS HATCH STOCK

**Brood Origin:** HATCHERY

Integrated/Segregated:

|          | Total # | <b>Total Pounds</b> |
|----------|---------|---------------------|
| Egg Take |         |                     |
| Shipping |         |                     |
| Received | 3,000   | 150                 |
| Planted  | 2,600   | 1,300               |

# **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

| Shipped or Received | Start Date | End Date | Facility           | Number | FPP  | <b>Total Pounds</b> | Life Stage |
|---------------------|------------|----------|--------------------|--------|------|---------------------|------------|
| Received            | 11/2021    | 11/2021  | WALLACE R HATCHERY | 3,000  | 20.0 | 150                 | JUVENILE   |

### **Estimated Release Data**

| Start Date | End Date | Num Release | FPP | <b>Total Pounds</b> | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|--------------|-----------|--------|
| 02/2023    | 02/2023  | 2,600       | 2.0 | 1,300               | JUVENILE   | TRIBAL COOP  |           |        |

Memo:

#### **CHELAN HATCHERY**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH CENTRAL WASHINGTON

Brood Year: 2020

**Species:** Cutthroat **Run:** Westslope

Stock: TWIN LAKES CR45.1140

Brood Origin: HATCHERY

Integrated/Segregated:

|          | Total # | <b>Total Pounds</b> |
|----------|---------|---------------------|
| Egg Take |         |                     |
| Shipping | 2,000   | 2                   |
| Received |         |                     |
| Planted  | 246,000 | 1,240               |

### **Estimated Brood Data**

**Egg Take Goal** 

#### **Estimated Transfer Data**

| Shipped or Received | Start Date | <b>End Date</b> | Facility          | Number | FPP   | <b>Total Pounds</b> | Life Stage |
|---------------------|------------|-----------------|-------------------|--------|-------|---------------------|------------|
| Shipped             | 07/2020    | 07/2020         | TOKUL CR HATCHERY | 2,000  | 900.0 | 2                   | JUVENILE   |

#### **Estimated Release Data**

| Start Date | End Date | Num Release | FPP   | <b>Total Pounds</b> | Life Stage | Release Site           | Mark Type | Tagged |
|------------|----------|-------------|-------|---------------------|------------|------------------------|-----------|--------|
| 08/2020    | 08/2020  | 195,000     | 500.0 | 390                 | JUVENILE   | KITTITAS CO LAKES      |           |        |
| 09/2020    | 09/2020  | 10,000      | 200.0 | 50                  | JUVENILE   | DOMKE LK (CHEL)        |           |        |
| 09/2020    | 09/2020  | 40,000      | 100.0 | 400                 | JUVENILE   | TWIN LKS (1) (CHEL)    |           |        |
| 06/2021    | 07/2021  | 1,000       | 2.5   | 400                 | JUVENILE   | BLACKBIRD ISLAND PONDS |           |        |

Memo: Program implementation is dependent on legal authority and funding. Fry for Tokul must be maintained on isolated patho-free water prior to transfer. Earliest eggtake possible for Goldendale. Kings Lake Cutthroat may be used as backfill for Twin Lake program.

#### **CHELAN HATCHERY**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH CENTRAL WASHINGTON

Brood Year: 2021

Species: Cutthroat

Run: Westslope

Stock: TWIN LAKES CR45.1140

Brood Origin: HATCHERY

Integrated/Segregated:

|          | Total # | <b>Total Pounds</b> |
|----------|---------|---------------------|
| Egg Take | 625,000 |                     |
| Shipping | 327,250 | 2                   |
| Received |         |                     |
| Planted  | 265,000 | 1,040               |

### **Estimated Brood Data**

Egg Take Goal 625,000

### **Estimated Transfer Data**

| Shipped or Received | Start Date | End Date | Facility             | Number  | FPP   | <b>Total Pounds</b> | Life Stage |
|---------------------|------------|----------|----------------------|---------|-------|---------------------|------------|
| Shipped             | 06/2021    | 06/2021  | CHELAN PUD HATCHERY  | 325,000 |       | 0                   | EGGS EYED  |
| Shipped             | 06/2021    | 06/2021  | HOLDEN VILLAGE CS(CH | 250     |       | 0                   | EGGS EYED  |
| Shipped             | 07/2021    | 07/2021  | TOKUL CR HATCHERY    | 2,000   | 900.0 | 2                   | JUVENILE   |

#### **Estimated Release Data**

| Start Date | End Date | Num Release | FPP   | <b>Total Pounds</b> | Life Stage | Release Site        | Mark Type | Tagged |
|------------|----------|-------------|-------|---------------------|------------|---------------------|-----------|--------|
| 08/2021    | 08/2021  | 195,000     | 500.0 | 390                 | JUVENILE   | KITTITAS CO LAKES   |           |        |
| 08/2021    | 10/2021  | 20,000      | 100.0 | 200                 | JUVENILE   | OKANOGAN CO LAKES   |           |        |
| 09/2021    | 09/2021  | 10,000      | 200.0 | 50                  | JUVENILE   | DOMKE LK (CHEL)     |           |        |
| 09/2021    | 09/2021  | 40,000      | 100.0 | 400                 | JUVENILE   | TWIN LKS (1) (CHEL) |           |        |

Memo: Program implementation is dependent on legal authority and funding. Fry for Tokul must be maintained on isolated patho-free water prior to transfer. Earliest eggtake possible for Goldendale. Kings Lake Cutthroat may be used as backfill for Twin Lake program.

### **CHELAN PUD HATCHERY**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH CENTRAL WASHINGTON

Brood Year: 2020

Species: Cutthroat
Run: Westslope

Stock: TWIN LAKES CR45.1140

Brood Origin: HATCHERY

Integrated/Segregated:

|          | Total # | <b>Total Pounds</b> |
|----------|---------|---------------------|
| Egg Take |         |                     |
| Shipping | 100,000 | 1,667               |
| Received |         |                     |
| Planted  | 200,000 | 200                 |

# **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

| Shipped or Received | Start Date | End Date | Facility          | Number  | FPP  | <b>Total Pounds</b> | Life Stage |
|---------------------|------------|----------|-------------------|---------|------|---------------------|------------|
| Shipped             | 11/2020    | 11/2020  | EASTBANK HATCHERY | 100,000 | 60.0 | 1,667               | JUVENILE   |

# **Estimated Release Data**

| Start Date | End Date | Num Release | FPP     | <b>Total Pounds</b> | Life Stage | Release Site     | Mark Type | Tagged |
|------------|----------|-------------|---------|---------------------|------------|------------------|-----------|--------|
| 09/2020    | 09/2020  | 200,000     | 1,000.0 | 200                 | JUVENILE   | LK CHELAN (CHEL) |           |        |

Memo: Program implementation is dependent on legal authority and funding.

### **CHELAN PUD HATCHERY**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH CENTRAL WASHINGTON

Brood Year: 2021

Species: Cutthroat
Run: Westslope

Stock: TWIN LAKES CR45.1140

Brood Origin: HATCHERY

Integrated/Segregated:

|          | Total # | <b>Total Pounds</b> |
|----------|---------|---------------------|
| Egg Take |         |                     |
| Shipping | 100,000 | 1,667               |
| Received | 325,000 | 0                   |
| Planted  | 200,000 | 200                 |

# **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

| Shipped or Received | Start Date | End Date | Facility          | Number  | FPP  | <b>Total Pounds</b> | Life Stage |
|---------------------|------------|----------|-------------------|---------|------|---------------------|------------|
| Received            | 06/2021    | 06/2021  | CHELAN HATCHERY   | 325,000 |      | 0                   | EGGS EYED  |
| Shipped             | 11/2021    | 11/2021  | EASTBANK HATCHERY | 100,000 | 60.0 | 1,667               | JUVENILE   |

# **Estimated Release Data**

| Start Date | End Date | Num Release | FPP     | <b>Total Pounds</b> | Life Stage | Release Site     | Mark Type | Tagged |
|------------|----------|-------------|---------|---------------------|------------|------------------|-----------|--------|
| 09/2021    | 09/2021  | 200,000     | 1,000.0 | 200                 | JUVENILE   | LK CHELAN (CHEL) |           |        |

Memo: Program implementation is dependent on legal authority and funding.

### **COLUMBIA BASIN HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH CENTRAL WASHINGTON

**Brood Year:** 2020

Species: Cutthroat
Run: Lahontan

Stock: LK LENORE LAHONTAN

Brood Origin: HATCHERY

Integrated/Segregated:

|          | Total # | <b>Total Pounds</b> |
|----------|---------|---------------------|
| Egg Take |         |                     |
| Shipping |         |                     |
| Received | 150,000 | 200                 |
| Planted  | 78,000  | 1,300               |

# **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

| Shipped or Received | Start Date | End Date | Facility      | Number  | FPP   | <b>Total Pounds</b> | Life Stage |
|---------------------|------------|----------|---------------|---------|-------|---------------------|------------|
| Received            | 04/2020    | 04/2020  | OMAK HATCHERY | 150,000 | 750.0 | 200                 | EGGS EYED  |

### **Estimated Release Data**

| Start Date | End Date | Num Release | FPP  | Total Pounds | Life Stage | Release Site     | Mark Type | Tagged |
|------------|----------|-------------|------|--------------|------------|------------------|-----------|--------|
| 10/2020    | 10/2020  | 8,000       | 60.0 | 133          | JUVENILE   | GRIMES LK (DOUG) |           |        |
| 10/2020    | 10/2020  | 70,000      | 60.0 | 1,167        | JUVENILE   | LK LENORE (GRAN) |           |        |

Memo: Program implementation is dependent on legal authority and funding.

### **COLUMBIA BASIN HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH CENTRAL WASHINGTON

Brood Year: 2021

Species: Cutthroat
Run: Lahontan

Stock: LK LENORE LAHONTAN

Brood Origin: HATCHERY

Integrated/Segregated:

|          | Total # | <b>Total Pounds</b> |
|----------|---------|---------------------|
| Egg Take |         |                     |
| Shipping |         |                     |
| Received | 150,000 | 200                 |
| Planted  | 78,000  | 1,300               |

# **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

| Shipped or Received | Start Date | End Date | Facility      | Number  | FPP   | <b>Total Pounds</b> | Life Stage |
|---------------------|------------|----------|---------------|---------|-------|---------------------|------------|
| Received            | 04/2021    | 04/2021  | OMAK HATCHERY | 150,000 | 750.0 | 200                 | EGGS EYED  |

#### **Estimated Release Data**

| Start Date | End Date | Num Release | FPP  | <b>Total Pounds</b> | Life Stage | Release Site     | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|------------------|-----------|--------|
| 10/2021    | 10/2021  | 8,000       | 60.0 | 133                 | JUVENILE   | GRIMES LK (DOUG) |           |        |
| 10/2021    | 10/2021  | 70,000      | 60.0 | 1,167               | JUVENILE   | LK LENORE (GRAN) |           |        |

Memo: Program implementation is dependent on legal authority and funding.

### **COWLITZ TROUT HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

Brood Year: 2020

**Species:** Cutthroat

Run: Anadromous Coastal
Stock: COWLITZ R 26.0002

**Brood Origin:** HATCHERY **Integrated/Segregated:** SEGREGATED

|          | Total # | <b>Total Pounds</b> |
|----------|---------|---------------------|
| Egg Take |         |                     |
| Shipping | 11,000  | 2,000               |
| Received |         |                     |
| Planted  | 90,500  | 22,625              |

# **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

| Shipped or Received | Start Date | End Date | Facility           | Number | FPP | <b>Total Pounds</b> | Life Stage |
|---------------------|------------|----------|--------------------|--------|-----|---------------------|------------|
| Shipped             | 02/2021    | 02/2021  | FRIENDS OF COWLITZ | 11,000 | 5.5 | 2,000               | JUVENILE   |

### **Estimated Release Data**

| Start Date | End Date | Num Release | FPP | <b>Total Pounds</b> | Life Stage | Release Site      | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|-------------------|-----------|--------|
| 04/2021    | 05/2021  | 90,500      | 4.0 | 22,625              | JUVENILE   | COWLITZ R 26.0002 | AD        |        |

Memo: Program implementation is dependent on legal authority and funding. Release 4/15 to 5/15.

### **COWLITZ TROUT HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

Brood Year: 2021

**Species:** Cutthroat

Run: Anadromous Coastal
Stock: COWLITZ R 26.0002

**Brood Origin:** HATCHERY **Integrated/Segregated:** SEGREGATED

|          | Total # | <b>Total Pounds</b> |
|----------|---------|---------------------|
| Egg Take | 184,000 |                     |
| Shipping | 11,000  | 2,000               |
| Received |         |                     |
| Planted  | 90,500  | 22,625              |

# **Estimated Brood Data**

Egg Take Goal 184,000

# **Estimated Transfer Data**

| Shipped or Received | Start Date | End Date | Facility           | Number | FPP | <b>Total Pounds</b> | Life Stage |
|---------------------|------------|----------|--------------------|--------|-----|---------------------|------------|
| Shipped             | 02/2022    | 02/2022  | FRIENDS OF COWLITZ | 11,000 | 5.5 | 2,000               | JUVENILE   |

# **Estimated Release Data**

| Start Date | End Date | Num Release | FPP | <b>Total Pounds</b> | Life Stage | Release Site      | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|-------------------|-----------|--------|
| 04/2022    | 05/2022  | 90,500      | 4.0 | 22,625              | JUVENILE   | COWLITZ R 26.0002 | AD        |        |

Memo: Program implementation is dependent on legal authority and funding. Release 4/15 to 5/15.

### **DARRINGTON SD 330**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### NORTH PUGET SOUND

Brood Year: 2021

Species: Cutthroat

Run: Resident Coastal

Stock: EELLS SPRINGS HATCH STOCK

**Brood Origin:** HATCHERY **Integrated/Segregated:** SEGREGATED

|          | Total # | <b>Total Pounds</b> |
|----------|---------|---------------------|
| Egg Take |         |                     |
| Shipping |         |                     |
| Received | 250     | 0                   |
| Planted  | 225     | 1                   |
|          |         |                     |

# **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

| Shipped or Received | Start Date | End Date | Facility           | Number | FPP | <b>Total Pounds</b> | Life Stage |
|---------------------|------------|----------|--------------------|--------|-----|---------------------|------------|
| Received            | 01/2021    | 01/2021  | ARLINGTON HATCHERY | 250    |     | 0                   | EGGS EYED  |

### **Estimated Release Data**

| Start Date | End Date | Num Release | FPP   | <b>Total Pounds</b> | Life Stage | Release Site    | Mark Type | Tagged |
|------------|----------|-------------|-------|---------------------|------------|-----------------|-----------|--------|
| 05/2021    | 05/2021  | 225         | 200.0 | 1                   | JUVENILE   | TEXAS PD (SKAG) |           |        |

Memo: Program Implementation is dependent on legal authority and funding.

# **EAGLE CR ES(ARLINGTO**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### NORTH PUGET SOUND

Brood Year: 2020

Species: Cutthroat

Run: Resident Coastal

Stock: EELLS SPRINGS HATCH STOCK

Brood Origin: HATCHERY

Integrated/Segregated:

|          | Total # | <b>Total Pounds</b> |
|----------|---------|---------------------|
| Egg Take |         |                     |
| Shipping |         |                     |
| Received | 500     | 0                   |
| Planted  | 450     | 2                   |

# **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

| Shipped or Received | Start Date | End Date | Facility           | Number | FPP | <b>Total Pounds</b> | Life Stage |
|---------------------|------------|----------|--------------------|--------|-----|---------------------|------------|
| Received            | 01/2020    | 01/2020  | ARLINGTON HATCHERY | 500    |     | 0                   | EGGS EYED  |

### **Estimated Release Data**

| Start Date | End Date | Num Release | FPP   | <b>Total Pounds</b> | Life Stage | Release Site      | Mark Type | Tagged |
|------------|----------|-------------|-------|---------------------|------------|-------------------|-----------|--------|
| 05/2020    | 05/2020  | 450         | 200.0 | 2                   | JUVENILE   | LK GOODWIN (SNOH) |           |        |

Memo: Program implementation is dependent on legal authority and funding.

#### **EASTBANK HATCHERY**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH CENTRAL WASHINGTON

Brood Year: 2020

Species: Cutthroat
Run: Westslope

Stock: TWIN LAKES CR45.1140

Brood Origin: HATCHERY

Integrated/Segregated:

|          | Total # | <b>Total Pounds</b> |
|----------|---------|---------------------|
| Egg Take |         |                     |
| Shipping |         |                     |
| Received | 100,000 | 1,667               |
| Planted  | 82,500  | 33,000              |

# **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

| Shipped or Received | Start Date | End Date | Facility            | Number  | FPP  | <b>Total Pounds</b> | Life Stage |
|---------------------|------------|----------|---------------------|---------|------|---------------------|------------|
| Received            | 11/2020    | 11/2020  | CHELAN PUD HATCHERY | 100,000 | 60.0 | 1,667               | JUVENILE   |

# **Estimated Release Data**

| Start Date | <b>End Date</b> | Num Release | FPP | <b>Total Pounds</b> | Life Stage | Release Site   | Mark Type | Tagged |
|------------|-----------------|-------------|-----|---------------------|------------|----------------|-----------|--------|
| 06/2022    | 07/2022         | 82,500      | 2.5 | 33,000              | JUVENILE   | LK CHELAN (47) | AD        |        |

Memo: Program implementation is dependent on legal authority and funding.

#### **EASTBANK HATCHERY**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH CENTRAL WASHINGTON

Brood Year: 2021

Species: Cutthroat
Run: Westslope

Stock: TWIN LAKES CR45.1140

Brood Origin: HATCHERY

Integrated/Segregated:

|          | Total # | <b>Total Pounds</b> |
|----------|---------|---------------------|
| Egg Take |         |                     |
| Shipping |         |                     |
| Received | 100,000 | 1,667               |
| Planted  | 82,500  | 33,000              |

# **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

| Shipped or Received | Start Date | End Date | Facility            | Number  | FPP  | <b>Total Pounds</b> | Life Stage |
|---------------------|------------|----------|---------------------|---------|------|---------------------|------------|
| Received            | 11/2021    | 11/2021  | CHELAN PUD HATCHERY | 100,000 | 60.0 | 1,667               | JUVENILE   |

# **Estimated Release Data**

| Start Date | End Date | Num Release | FPP | <b>Total Pounds</b> | Life Stage | Release Site   | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|----------------|-----------|--------|
| 06/2023    | 07/2023  | 82,500      | 2.5 | 33,000              | JUVENILE   | LK CHELAN (47) | AD        |        |

Memo: Program implementation is dependent on legal authority and funding.

### **EELLS SPRINGS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year: 2018

**Species:** Cutthroat

Run: Resident Coastal

Stock: EELLS SPRINGS HATCH STOCK

**Brood Origin:** HATCHERY

Integrated/Segregated:

|          | Total # | <b>Total Pounds</b> |
|----------|---------|---------------------|
| Egg Take |         |                     |
| Shipping |         |                     |
| Received |         |                     |
| Planted  | 2,000   | 2,942               |

# **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Received Start Date End Date Facility Number FPP Total Pounds Life Stage

#### **Estimated Release Data**

| Start Date | End Date | Num Release | FPP | <b>Total Pounds</b> | Life Stage | Release Site      | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|-------------------|-----------|--------|
| 03/2021    | 03/2021  | 1,000       | 0.7 | 1,471               | BROODSTOCK | MASON CO LAKES    |           |        |
| 03/2021    | 03/2021  | 1,000       | 0.7 | 1,471               | BROODSTOCK | THURSTON CO LAKES |           |        |

Memo: Program implementation is dependent on legal authority and funding.

#### **EELLS SPRINGS**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

**Brood Year:** 2019

**Species:** Cutthroat

Run: Resident Coastal

Stock: EELLS SPRINGS HATCH STOCK

Brood Origin: HATCHERY

Integrated/Segregated:

|          | Total # | <b>Total Pounds</b> |
|----------|---------|---------------------|
| Egg Take |         |                     |
| Shipping |         |                     |
| Received |         |                     |
| Planted  | 2,000   | 2,942               |

# **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Received Start Date End Date Facility Number FPP Total Pounds Life Stage

### **Estimated Release Data**

| Start Date | End Date | Num Release | FPP | <b>Total Pounds</b> | Life Stage | Release Site      | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|-------------------|-----------|--------|
| 03/2022    | 03/2022  | 1,000       | 0.7 | 1,471               | BROODSTOCK | MASON CO LAKES    |           |        |
| 03/2022    | 03/2022  | 1,000       | 0.7 | 1,471               | BROODSTOCK | THURSTON CO LAKES |           |        |

Memo: Program implementation is dependent on legal authority and funding.

### **EELLS SPRINGS**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year: 2020

**Species:** Cutthroat

Run: Resident Coastal

Stock: EELLS SPRINGS HATCH STOCK

Brood Origin: HATCHERY

Integrated/Segregated:

|          | Total # | <b>Total Pounds</b> |
|----------|---------|---------------------|
| Egg Take |         |                     |
| Shipping |         |                     |
| Received |         |                     |
| Planted  | 84,500  | 5,277               |

# **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Received Start Date End Date Facility Number FPP Total Pounds Life Stage

#### **Estimated Release Data**

| Start Date | End Date | Num Release | FPP   | <b>Total Pounds</b> | Life Stage | Release Site       | Mark Type | Tagged |
|------------|----------|-------------|-------|---------------------|------------|--------------------|-----------|--------|
| 05/2020    | 07/2020  | 15,000      | 300.0 | 50                  | JUVENILE   | JEFFERSON CO LAKES |           |        |
| 05/2020    | 07/2020  | 5,500       | 300.0 | 18                  | JUVENILE   | KITSAP CO LAKES    |           |        |
| 05/2020    | 07/2020  | 35,000      | 300.0 | 117                 | JUVENILE   | MASON CO LAKES     |           |        |
| 10/2020    | 10/2020  | 3,000       | 20.0  | 150                 | JUVENILE   | KITSAP CO LAKES    |           |        |
| 10/2020    | 10/2020  | 5,000       | 20.0  | 250                 | JUVENILE   | MASON CO LAKES     |           |        |
| 10/2020    | 10/2020  | 15,000      | 20.0  | 750                 | JUVENILE   | THURSTON CO LAKES  |           |        |
| 05/2021    | 05/2021  | 4,000       | 4.0   | 1,000               | JUVENILE   | MASON CO LAKES     |           |        |
| 03/2023    | 03/2023  | 1,000       | 0.7   | 1,471               | BROODSTOCK | MASON CO LAKES     |           |        |
| 03/2023    | 03/2023  | 1,000       | 0.7   | 1,471               | BROODSTOCK | THURSTON CO LAKES  |           |        |

Memo: Program implementation is dependent on legal authority and funding.

### **EELLS SPRINGS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year: 2021

**Species:** Cutthroat

Run: Resident Coastal

Stock: EELLS SPRINGS HATCH STOCK

Brood Origin: HATCHERY

Integrated/Segregated:

|          | Total # | <b>Total Pounds</b> |
|----------|---------|---------------------|
| Egg Take | 415,000 |                     |
| Shipping | 267,500 | 0                   |
| Received |         |                     |
| Planted  | 84,500  | 5,277               |

# **Estimated Brood Data**

Egg Take Goal 415,000

# **Estimated Transfer Data**

| Shipped or Received | Start Date | End Date | Facility            | Number  | FPP | <b>Total Pounds</b> | Life Stage |
|---------------------|------------|----------|---------------------|---------|-----|---------------------|------------|
| Shipped             | 12/2020    | 01/2021  | ARLINGTON HATCHERY  | 12,000  |     | 0                   | EGGS GREEN |
| Shipped             | 01/2021    | 01/2021  | ARLINGTON HATCHERY  | 150,000 |     | 0                   | EGGS EYED  |
| Shipped             | 01/2021    | 01/2021  | KENDALL CR HATCHERY | 100,000 |     | 0                   | EGGS EYED  |
| Shipped             | 02/2021    | 03/2021  | TOKUL CR HATCHERY   | 5,500   |     | 0                   | EGGS EYED  |

#### **Estimated Release Data**

| Start Date | End Date | Num Release | FPP   | <b>Total Pounds</b> | Life Stage | Release Site       | Mark Type | Tagged |
|------------|----------|-------------|-------|---------------------|------------|--------------------|-----------|--------|
| 05/2021    | 07/2021  | 15,000      | 300.0 | 50                  | JUVENILE   | JEFFERSON CO LAKES |           |        |
| 05/2021    | 07/2021  | 5,500       | 300.0 | 18                  | JUVENILE   | KITSAP CO LAKES    |           |        |
| 05/2021    | 07/2021  | 35,000      | 300.0 | 117                 | JUVENILE   | MASON CO LAKES     |           |        |
| 10/2021    | 10/2021  | 3,000       | 20.0  | 150                 | JUVENILE   | KITSAP CO LAKES    |           |        |
| 10/2021    | 10/2021  | 5,000       | 20.0  | 250                 | JUVENILE   | MASON CO LAKES     |           |        |
| 10/2021    | 10/2021  | 15,000      | 20.0  | 750                 | JUVENILE   | THURSTON CO LAKES  |           |        |
| 05/2022    | 05/2022  | 4,000       | 4.0   | 1,000               | JUVENILE   | MASON CO LAKES     |           |        |
| 03/2024    | 03/2024  | 1,000       | 0.7   | 1,471               | BROODSTOCK | MASON CO LAKES     |           |        |
| 03/2024    | 03/2024  | 1,000       | 0.7   | 1,471               | BROODSTOCK | THURSTON CO LAKES  |           |        |

Memo: Program implementation is dependent on legal authority and funding.

#### **FORD HATCHERY**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### **EASTERN WASHINGTON**

Total #

4,500

Egg Take

Shipping

Received

Planted

**Total Pounds** 

4,500

**Brood Year:** 2018

**Species:** Cutthroat

Run: Westslope
Stock: KING LK (PEND)

Brood Origin: WILD

Integrated/Segregated:

| <b>Estimated</b> | <b>Brood Data</b> |
|------------------|-------------------|
|------------------|-------------------|

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Received Start Date End Date Facility Number FPP Total Pounds Life Stage

#### **Estimated Release Data**

| Start Date | End Date | Num Release | FPP | <b>Total Pounds</b> | Life Stage | Release Site          | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|-----------------------|-----------|--------|
| 10/2020    | 10/2020  | 4,500       | 1.0 | 4,500               | BROODSTOCK | PEND OREILLE CO LAKES |           |        |

Memo: Program implementation is dependent on legal authority and funding. Ford Transfer is Captive Brood replacement.

### **FORD HATCHERY**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### **EASTERN WASHINGTON**

**Brood Year:** 2019

**Species:** Cutthroat **Run:** Westslope

Stock: KING LK (PEND)

Brood Origin: WILD

Integrated/Segregated:

|          | Total # | <b>Total Pounds</b> |
|----------|---------|---------------------|
| Egg Take |         |                     |
| Shipping |         |                     |
| Received | 4,500   | 225                 |
| Planted  | 4,500   | 4,500               |

# **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

| Shipped or Received | Start Date | End Date | Facility         | Number | FPP  | <b>Total Pounds</b> | Life Stage |
|---------------------|------------|----------|------------------|--------|------|---------------------|------------|
| Received            | 06/2020    | 06/2020  | SPOKANE HATCHERY | 4,500  | 20.0 | 225                 | JUVENILE   |

# **Estimated Release Data**

| Start Date | End Date | Num Release | FPP | <b>Total Pounds</b> | Life Stage | Release Site          | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|-----------------------|-----------|--------|
| 10/2021    | 10/2021  | 4,500       | 1.0 | 4,500               | BROODSTOCK | PEND OREILLE CO LAKES |           |        |

Memo: Program implementation is dependent on legal authority and funding. Ford Transfer is Captive Brood replacement.

### **FORD HATCHERY**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### **EASTERN WASHINGTON**

**Brood Year:** 2020

**Species:** Cutthroat

Run: Westslope

Stock: KING LK (PEND)

Brood Origin: WILD

Integrated/Segregated:

|          | Total # | <b>Total Pounds</b> |
|----------|---------|---------------------|
| Egg Take |         |                     |
| Shipping |         |                     |
| Received | 4,500   | 225                 |
| Planted  | 4,500   | 4,500               |

# **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

| Shipped or Received | Start Date | End Date | Facility         | Number | FPP  | <b>Total Pounds</b> | Life Stage |
|---------------------|------------|----------|------------------|--------|------|---------------------|------------|
| Received            | 06/2021    | 06/2021  | SPOKANE HATCHERY | 4,500  | 20.0 | 225                 | JUVENILE   |

#### **Estimated Release Data**

| Start Date | End Date | Num Release | FPP | <b>Total Pounds</b> | Life Stage | Release Site          | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|-----------------------|-----------|--------|
| 10/2022    | 10/2022  | 4,500       | 1.0 | 4,500               | BROODSTOCK | PEND OREILLE CO LAKES |           |        |

Memo: Program implementation is dependent on legal authority and funding. Ford Transfer is Captive Brood replacement.

#### **FRIENDS OF COWLITZ**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2020

**Species:** Cutthroat

Run: Anadromous Coastal
Stock: COWLITZ R 26.0002

**Brood Origin:** HATCHERY **Integrated/Segregated:** SEGREGATED

| <b>Total Pounds</b> |
|---------------------|
|                     |
|                     |
| 1,818               |
| 2,500               |
| 1                   |

# **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

| Shipped or Received | Start Date | End Date | Facility               | Number | FPP | <b>Total Pounds</b> | Life Stage |
|---------------------|------------|----------|------------------------|--------|-----|---------------------|------------|
| Received            | 02/2021    | 02/2021  | COWLITZ TROUT HATCHERY | 10,000 | 5.5 | 1,818               | JUVENILE   |

### **Estimated Release Data**

| Start Date | End Date | Num Release | FPP | <b>Total Pounds</b> | Life Stage | Release Site      | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|-------------------|-----------|--------|
| 04/2021    | 05/2021  | 10,000      | 4.0 | 2,500               | JUVENILE   | COWLITZ R 26.0002 | AD        |        |

Memo: Program implementation is dependent on legal authority and funding. Release 4/15 to 5/15.

#### **FRIENDS OF COWLITZ**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

SOUTHWEST WASHINGTON / LOWER COL

Brood Year: 2021

**Species:** Cutthroat

Run: Anadromous Coastal
Stock: COWLITZ R 26.0002

**Brood Origin:** HATCHERY **Integrated/Segregated:** SEGREGATED

|          | Total # | <b>Total Pounds</b> |
|----------|---------|---------------------|
| Egg Take |         |                     |
| Shipping |         |                     |
| Received | 10,000  | 1,818               |
| Planted  | 10,000  | 2,500               |

# **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

| Shipped or Received | Start Date | End Date | Facility               | Number | FPP | <b>Total Pounds</b> | Life Stage |
|---------------------|------------|----------|------------------------|--------|-----|---------------------|------------|
| Received            | 02/2022    | 02/2022  | COWLITZ TROUT HATCHERY | 10,000 | 5.5 | 1,818               | JUVENILE   |

# **Estimated Release Data**

| Start Date | <b>End Date</b> | Num Release | FPP | <b>Total Pounds</b> | Life Stage | Release Site      | Mark Type | Tagged |
|------------|-----------------|-------------|-----|---------------------|------------|-------------------|-----------|--------|
| 04/2022    | 05/2022         | 10,000      | 4.0 | 2,500               | JUVENILE   | COWLITZ R 26.0002 | AD        |        |

Memo: Program implementation is dependent on legal authority and funding. Release 4/15 to 5/15.

#### **GOLDENDALE HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

Brood Year: 2020

Species: Cutthroat

Run: Westslope

Stock: TWIN LAKES CR45.1140

Brood Origin: HATCHERY

Integrated/Segregated:

|          | Total # | <b>Total Pounds</b> |
|----------|---------|---------------------|
| Egg Take |         |                     |
| Shipping |         |                     |
| Received |         |                     |
| Planted  | 6,800   | 27                  |

# **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Received Start Date End Date Facility Number FPP Total Pounds Life Stage

#### **Estimated Release Data**

| Start Date | End Date | Num Release | FPP   | <b>Total Pounds</b> | Life Stage | Release Site      | Mark Type | Tagged |
|------------|----------|-------------|-------|---------------------|------------|-------------------|-----------|--------|
| 09/2020    | 09/2020  | 6,800       | 250.0 | 27                  | JUVENILE   | SKAMANIA CO LAKES |           |        |

Memo: Program implementation is dependent on legal authority and funding. Earliest eggtake possible.

#### **GOLDENDALE HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

Brood Year: 2021

Species: Cutthroat
Run: Westslope

Stock: TWIN LAKES CR45.1140

Brood Origin: HATCHERY

Integrated/Segregated:

|          | Total # | <b>Total Pounds</b> |
|----------|---------|---------------------|
| Egg Take |         |                     |
| Shipping |         |                     |
| Received | 20,000  | 0                   |
| Planted  | 6,800   | 27                  |

# **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

| Shipped or Received | Start Date | End Date | Facility         | Number | FPP | <b>Total Pounds</b> | Life Stage |
|---------------------|------------|----------|------------------|--------|-----|---------------------|------------|
| Received            | 05/2021    | 05/2021  | SPOKANE HATCHERY | 20,000 |     | 0                   | EGGS EYED  |

### **Estimated Release Data**

| Start Date | End Date | Num Release | FPP   | <b>Total Pounds</b> | Life Stage | Release Site      | Mark Type | Tagged |
|------------|----------|-------------|-------|---------------------|------------|-------------------|-----------|--------|
| 09/2021    | 09/2021  | 6,800       | 250.0 | 27                  | JUVENILE   | SKAMANIA CO LAKES |           |        |

Memo: Program implementation is dependent on legal authority and funding. Earliest eggtake possible.

### **GOLDENDALE HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

Brood Year: 2021

**Species:** Cutthroat **Run:** Westslope

Stock: KING LK (PEND)

Brood Origin: WILD

Integrated/Segregated:

|          | Total # | Total Pounds |
|----------|---------|--------------|
| Egg Take |         |              |
| Shipping |         |              |
| Received | 20,000  | 0            |
| Planted  |         |              |

# **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

| Shipped or Received | Start Date | <b>End Date</b> | Facility         | Number | FPP | <b>Total Pounds</b> | Life Stage |
|---------------------|------------|-----------------|------------------|--------|-----|---------------------|------------|
| Received            | 05/2021    | 05/2021         | SPOKANE HATCHERY | 20,000 |     | 0                   | EGGS EYED  |

# **Estimated Release Data**

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|--------------|------------|--------------|-----------|--------|

Memo: Program implementation is dependent on legal authority and funding.

# **HOLDEN VILLAGE CS(CH**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### NORTH CENTRAL WASHINGTON

**Brood Year:** 2020

**Species:** Cutthroat **Run:** Westslope

Stock: TWIN LAKES CR45.1140

Brood Origin: HATCHERY

Integrated/Segregated:

|          | Total # | <b>Total Pounds</b> |
|----------|---------|---------------------|
| Egg Take |         |                     |
| Shipping |         |                     |
| Received |         |                     |
| Planted  | 225     | 0                   |

# **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Received Start Date End Date Facility Number FPP Total Pounds Life Stage

#### **Estimated Release Data**

| Start Date | End Date | Num Release | FPP   | <b>Total Pounds</b> | Life Stage | Release Site        | Mark Type | Tagged |
|------------|----------|-------------|-------|---------------------|------------|---------------------|-----------|--------|
| 10/2020    | 10/2020  | 225         | 500.0 | 0                   | JUVENILE   | RAILROAD CR 21.0414 |           |        |

Memo: Program implementation is dependent on legal authority and funding.

# **HOLDEN VILLAGE CS(CH**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### NORTH CENTRAL WASHINGTON

Brood Year: 2021

Species: Cutthroat
Run: Westslope

Stock: TWIN LAKES CR45.1140

Brood Origin: HATCHERY

Integrated/Segregated:

|          | Total # | <b>Total Pounds</b> |
|----------|---------|---------------------|
| Egg Take |         |                     |
| Shipping |         |                     |
| Received | 250     | 0                   |
| Planted  | 225     | 0                   |

# **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

| Shipped or Received | Start Date | End Date | Facility        | Number | FPP | <b>Total Pounds</b> | Life Stage |
|---------------------|------------|----------|-----------------|--------|-----|---------------------|------------|
| Received            | 06/2021    | 06/2021  | CHELAN HATCHERY | 250    |     | 0                   | EGGS EYED  |

### **Estimated Release Data**

| Start Date | End Date | Num Release | FPP   | <b>Total Pounds</b> | Life Stage | Release Site        | Mark Type | Tagged |
|------------|----------|-------------|-------|---------------------|------------|---------------------|-----------|--------|
| 10/2021    | 10/2021  | 225         | 500.0 | 0                   | JUVENILE   | RAILROAD CR 21.0414 |           |        |

Memo: Program implementation is dependent on legal authority and funding.

#### **KENDALL CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH PUGET SOUND

Brood Year: 2020

**Species:** Cutthroat

Run: Resident Coastal

Stock: EELLS SPRINGS HATCH STOCK

Brood Origin: HATCHERY

Integrated/Segregated:

|          | Total # | <b>Total Pounds</b> |
|----------|---------|---------------------|
| Egg Take |         |                     |
| Shipping |         |                     |
| Received |         |                     |
| Planted  | 76,000  | 1,267               |

# **Estimated Brood Data**

**Egg Take Goal** 

#### **Estimated Transfer Data**

Shipped or Received Start Date End Date Facility Number FPP Total Pounds Life Stage

### **Estimated Release Data**

| Start Date | End Date | ——<br>Num Release | FPP  | <b>Total Pounds</b> | Life Stage | Release Site      | Mark Type | Tagged |
|------------|----------|-------------------|------|---------------------|------------|-------------------|-----------|--------|
| 10/2020    | 10/2020  | 19,000            | 60.0 | 317                 | JUVENILE   | SAN JUAN CO LAKES |           |        |
| 10/2020    | 10/2020  | 22,000            | 60.0 | 367                 | JUVENILE   | SKAGIT CO LAKES   |           |        |
| 10/2020    | 10/2020  | 35,000            | 60.0 | 583                 | JUVENILE   | WHATCOM CO LAKES  |           |        |

Memo: Program implementation is dependent on legal authority and funding. Eggs & fish must be maintained on pathogen free water. Region 4 High Lakes.

#### **KENDALL CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH PUGET SOUND

Brood Year: 2021

**Species:** Cutthroat

Run: Resident Coastal

Stock: EELLS SPRINGS HATCH STOCK

Brood Origin: HATCHERY

Integrated/Segregated:

|          | Total # | <b>Total Pounds</b> |
|----------|---------|---------------------|
| Egg Take |         |                     |
| Shipping |         |                     |
| Received | 100,000 | 0                   |
| Planted  | 81,000  | 1,292               |

# **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

| Shipped or Received | Start Date | End Date | Facility      | Number  | FPP | <b>Total Pounds</b> | Life Stage |
|---------------------|------------|----------|---------------|---------|-----|---------------------|------------|
| Received            | 01/2021    | 01/2021  | EELLS SPRINGS | 100,000 |     | 0                   | EGGS EYED  |

#### **Estimated Release Data**

| Start Date | End Date | Num Release | FPP   | <b>Total Pounds</b> | Life Stage | Release Site      | Mark Type | Tagged |
|------------|----------|-------------|-------|---------------------|------------|-------------------|-----------|--------|
| 06/2021    | 10/2021  | 5,000       | 200.0 | 25                  | JUVENILE   | REG 4 LAKES       |           |        |
| 10/2021    | 10/2021  | 19,000      | 60.0  | 317                 | JUVENILE   | SAN JUAN CO LAKES |           |        |
| 10/2021    | 10/2021  | 22,000      | 60.0  | 367                 | JUVENILE   | SKAGIT CO LAKES   |           |        |
| 10/2021    | 10/2021  | 35,000      | 60.0  | 583                 | JUVENILE   | WHATCOM CO LAKES  |           |        |

Memo: Program implementation is dependent on legal authority and funding. Eggs & fish must be maintained on pathogen free water. Region 4 High Lakes.

#### **MOSSYROCK HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2020

**Species:** Cutthroat **Run:** Westslope

Stock: TWIN LAKES CR45.1140

Brood Origin: HATCHERY

Integrated/Segregated:

|          | Total # | <b>Total Pounds</b> |
|----------|---------|---------------------|
| Egg Take |         |                     |
| Shipping |         |                     |
| Received |         |                     |
| Planted  | 13,000  | 52                  |

# **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Received Start Date End Date Facility Number FPP Total Pounds Life Stage

#### **Estimated Release Data**

| Start Date | End Date | Num Release | FPP   | <b>Total Pounds</b> | Life Stage | Release Site   | Mark Type | Tagged |
|------------|----------|-------------|-------|---------------------|------------|----------------|-----------|--------|
| 09/2020    | 09/2020  | 13,000      | 250.0 | 52                  | JUVENILE   | LEWIS CO LAKES |           |        |

Memo: Program implementation is dependent on legal authority and funding. Non-mitigation

### **MOSSYROCK HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

Brood Year: 2021

Species: Cutthroat
Run: Westslope

Stock: TWIN LAKES CR45.1140

Brood Origin: HATCHERY

Integrated/Segregated:

|          | Total # | <b>Total Pounds</b> |
|----------|---------|---------------------|
| Egg Take |         |                     |
| Shipping |         |                     |
| Received | 15,000  | 0                   |
| Planted  | 13,000  | 52                  |

# **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

| Shipped or Received | Start Date | End Date | Facility         | Number | FPP | <b>Total Pounds</b> | Life Stage |
|---------------------|------------|----------|------------------|--------|-----|---------------------|------------|
| Received            | 05/2021    | 05/2021  | SPOKANE HATCHERY | 15,000 |     | 0                   | EGGS EYED  |

#### **Estimated Release Data**

| Start Date | End Date | Num Release | FPP   | <b>Total Pounds</b> | Life Stage | Release Site   | Mark Type | Tagged |
|------------|----------|-------------|-------|---------------------|------------|----------------|-----------|--------|
| 09/2021    | 09/2021  | 13,000      | 250.0 | 52                  | JUVENILE   | LEWIS CO LAKES |           |        |

Memo: Program implementation is dependent on legal authority and funding. Non-mitigation

### **MOSSYROCK HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

Brood Year: 2021

**Species:** Cutthroat **Run:** Westslope

Stock: KING LK (PEND)

Brood Origin: WILD

Integrated/Segregated:

|          | Total # | Total Pounds |
|----------|---------|--------------|
| Egg Take |         |              |
| Shipping |         |              |
| Received | 15,000  | 0            |
| Planted  |         |              |

# **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

| Shipped or Received | Start Date | End Date | Facility         | Number | FPP | <b>Total Pounds</b> | Life Stage |
|---------------------|------------|----------|------------------|--------|-----|---------------------|------------|
| Received            | 05/2021    | 05/2021  | SPOKANE HATCHERY | 15,000 |     | 0                   | EGGS EYED  |

### **Estimated Release Data**

| Start Date | End Date | Num Release | FPP | Total Pounds | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-----|--------------|------------|--------------|-----------|--------|

Memo: Program implementation is dependent on legal authority and funding.

### **NACHES HATCHERY**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTH CENTRAL WASHINGTON

Brood Year: 2020

Species: Cutthroat
Run: Westslope

Stock: KING LK (PEND)

**Brood Origin:** WILD Integrated/Segregated:

|          | Total # | <b>Total Pounds</b> |
|----------|---------|---------------------|
| Egg Take |         |                     |
| Shipping |         |                     |
| Received | 15,000  | 0                   |
| Planted  | 12,000  | 24                  |

# **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

| Shipped or Received | Start Date | End Date | Facility         | Number | FPP | <b>Total Pounds</b> | Life Stage |
|---------------------|------------|----------|------------------|--------|-----|---------------------|------------|
| Received            | 05/2020    | 05/2020  | SPOKANE HATCHERY | 15,000 |     | 0                   | EGGS EYED  |

#### **Estimated Release Data**

| Start Date | End Date | Num Release | FPP   | <b>Total Pounds</b> | Life Stage | Release Site      | Mark Type | Tagged |
|------------|----------|-------------|-------|---------------------|------------|-------------------|-----------|--------|
| 08/2020    | 08/2020  | 6,000       | 500.0 | 12                  | JUVENILE   | KITTITAS CO LAKES |           |        |
| 08/2020    | 08/2020  | 6,000       | 500.0 | 12                  | JUVENILE   | YAKIMA CO LAKES   |           |        |

Memo: Program implementation is dependent on legal authority and funding.

## **OMAK HATCHERY**

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH CENTRAL WASHINGTON

Brood Year: 2020

Species: Cutthroat
Run: Lahontan

Stock: LK LENORE LAHONTAN

Brood Origin: HATCHERY

Integrated/Segregated:

|          | Total # | <b>Total Pounds</b> |
|----------|---------|---------------------|
| Egg Take |         |                     |
| Shipping |         |                     |
| Received |         |                     |
| Planted  | 5,000   | 83                  |

# **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

Shipped or Received Start Date End Date Facility Number FPP Total Pounds Life Stage

## **Estimated Release Data**

| Start Date | End Date | Num Release | FPP  | <b>Total Pounds</b> | Life Stage | Release Site      | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|-------------------|-----------|--------|
| 10/2020    | 10/2020  | 5,000       | 60.0 | 83                  | JUVENILE   | OKANOGAN CO LAKES |           |        |

Memo: Program implementation is dependent on legal authority and funding.

# **OMAK HATCHERY**

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### NORTH CENTRAL WASHINGTON

Brood Year: 2021

Species: Cutthroat
Run: Lahontan

Stock: LK LENORE LAHONTAN

Brood Origin: HATCHERY

Integrated/Segregated:

|          | Total # | <b>Total Pounds</b> |
|----------|---------|---------------------|
| Egg Take | 400,000 |                     |
| Shipping | 310,000 | 0                   |
| Received |         |                     |
| Planted  | 5,000   | 83                  |

# **Estimated Brood Data**

Egg Take Goal 400,000

# **Estimated Transfer Data**

09/2021

09/2021

| Shipped or Receiv     | ed Start Da | ate End Date | Facilit | у               |            | Number       | FPP | Total Pounds      | Life St | age    |
|-----------------------|-------------|--------------|---------|-----------------|------------|--------------|-----|-------------------|---------|--------|
| Shipped               | 04/2021     | 1 04/2021    | COLU    | JMBIA BASIN HAT | CHERY      | 150,000      |     | 0                 | EGGS    | EYED   |
| Shipped               | 04/2021     | 1 04/2021    | COLV    | VILLE CONFEDERA | ATED TRIBE | 100,000      |     | 0                 | EGGS    | GREEN  |
| Shipped               | 04/2021     | 1 04/2021    | IDAH    | O -FISH & GAME  |            | 60,000       |     | 0                 | EGGS    | EYED   |
| <b>Estimated Rele</b> | ase Data    |              |         |                 |            |              |     |                   |         |        |
| Start Date End        | Date Nu     | m Release    | FPP     | Total Pounds    | Life Stage | Release Site |     | Mark <sup>1</sup> | Tvpe    | Tagged |

**JUVENILE** 

OKANOGAN CO LAKES

83

Memo: Program implementation is dependent on legal authority and funding.

5,000

60.0

## **SKAMANIA HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

**Brood Year:** 2019

**Species:** Cutthroat

Run: Resident Coastal

Stock: SKAMANIA HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

|          | Total # | <b>Total Pounds</b> |
|----------|---------|---------------------|
| Egg Take |         |                     |
| Shipping |         |                     |
| Received |         |                     |
| Planted  | 2,000   | 1,111               |

# **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

Shipped or Received Start Date End Date Facility Number FPP Total Pounds Life Stage

## **Estimated Release Data**

| Start Date | End Date | Num Release | FPP | <b>Total Pounds</b> | Life Stage | Release Site      | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|-------------------|-----------|--------|
| 09/2020    | 09/2020  | 2,000       | 1.8 | 1,111               | JUVENILE   | SKAMANIA CO LAKES |           |        |

Memo: Program implementation is dependent on legal authority and funding. Funded by Clark County PUD.

## **SKAMANIA HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

Brood Year: 2020

**Species:** Cutthroat

Run: Resident Coastal

Stock: SKAMANIA HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

|          | Total # | <b>Total Pounds</b> |
|----------|---------|---------------------|
| Egg Take | 40,000  |                     |
| Shipping |         |                     |
| Received |         |                     |
| Planted  | 16,000  | 7,038               |

## **Estimated Brood Data**

Egg Take Goal 40,000

# **Estimated Transfer Data**

Shipped or Received Start Date End Date Facility Number FPP Total Pounds Life Stage

# **Estimated Release Data**

| Start Date | End Date | Num Release | FPP | <b>Total Pounds</b> | Life Stage | Release Site      | Mark Type | Tagged |
|------------|----------|-------------|-----|---------------------|------------|-------------------|-----------|--------|
| 02/2021    | 03/2021  | 8,000       | 2.5 | 3,200               | JUVENILE   | CLARK CO LAKES    |           |        |
| 05/2021    | 06/2021  | 6,000       | 2.2 | 2,727               | JUVENILE   | SKAMANIA CO LAKES |           |        |
| 09/2021    | 09/2021  | 2,000       | 1.8 | 1,111               | JUVENILE   | SKAMANIA CO LAKES |           |        |

Memo: Program implementation is dependent on legal authority and funding. Funded by Clark County PUD.

# **SPOKANE HATCHERY**

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### **EASTERN WASHINGTON**

**Brood Year:** 2019

**Species:** Cutthroat **Run:** Westslope

Stock: KING LK (PEND)

Brood Origin: WILD

Integrated/Segregated:

|          | Total # | <b>Total Pounds</b> |
|----------|---------|---------------------|
| Egg Take |         |                     |
| Shipping | 4,500   | 225                 |
| Received |         |                     |
| Planted  |         |                     |

# **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

| Shipped or Received | Start Date | End Date | Facility      | Number | FPP  | <b>Total Pounds</b> | Life Stage |
|---------------------|------------|----------|---------------|--------|------|---------------------|------------|
| Shipped             | 06/2020    | 06/2020  | FORD HATCHERY | 4,500  | 20.0 | 225                 | JUVENILE   |

# **Estimated Release Data**

|            |          | <u></u>     |     |                     |            |              |           |        |
|------------|----------|-------------|-----|---------------------|------------|--------------|-----------|--------|
| Start Date | End Date | Num Release | FPP | <b>Total Pounds</b> | Life Stage | Release Site | Mark Type | Tagged |

Memo: Program implementation is dependent on legal authority and funding.

# **SPOKANE HATCHERY**

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### **EASTERN WASHINGTON**

Brood Year: 2020

**Species:** Cutthroat **Run:** Westslope

Stock: KING LK (PEND)

Brood Origin: WILD

Integrated/Segregated:

|          | Total # | <b>Total Pounds</b> |
|----------|---------|---------------------|
| Egg Take | 300,000 |                     |
| Shipping | 19,500  | 225                 |
| Received |         |                     |
| Planted  | 197,000 | 5,250               |

# **Estimated Brood Data**

Egg Take Goal 300,000

# **Estimated Transfer Data**

| Shipped or Received | Start Date | End Date | Facility        | Number | FPP  | <b>Total Pounds</b> | Life Stage |
|---------------------|------------|----------|-----------------|--------|------|---------------------|------------|
| Shipped             | 05/2020    | 05/2020  | NACHES HATCHERY | 15,000 |      | 0                   | EGGS EYED  |
| Shipped             | 06/2021    | 06/2021  | FORD HATCHERY   | 4,500  | 20.0 | 225                 | JUVENILE   |

# **Estimated Release Data**

| Start Date | End Date | Num Release | FPP   | Total Pounds | Life Stage | Release Site          | Mark Type | Tagged |
|------------|----------|-------------|-------|--------------|------------|-----------------------|-----------|--------|
| 10/2020    | 10/2020  | 15,000      | 250.0 | 60           | JUVENILE   | FERRY CO LAKES        |           |        |
| 10/2020    | 10/2020  | 70,000      | 250.0 | 280          | JUVENILE   | PEND OREILLE CO LAKES |           |        |
| 10/2020    | 10/2020  | 15,000      | 250.0 | 60           | JUVENILE   | STEVENS CO LAKES      |           |        |
| 05/2021    | 06/2021  | 62,000      | 20.0  | 3,100        | JUVENILE   | SPOKANE CO LAKES      |           |        |
| 05/2021    | 06/2021  | 35,000      | 20.0  | 1,750        | JUVENILE   | STEVENS CO LAKES      |           |        |

Memo: Program implementation is dependent on legal authority and funding.

# **SPOKANE HATCHERY**

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### **EASTERN WASHINGTON**

Brood Year: 2021

Species: Cutthroat
Run: Westslope

Stock: KING LK (PEND)

Brood Origin: WILD

Integrated/Segregated:

|         | Total #  | Total Pounds |
|---------|----------|--------------|
| Egg Tak | e        |              |
| Shippin | g 35,000 | 0            |
| Receive | ed .     |              |
| Planted | I        |              |

# **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

| Shipped or Received | Start Date | End Date | Facility            | Number | FPP | <b>Total Pounds</b> | Life Stage |
|---------------------|------------|----------|---------------------|--------|-----|---------------------|------------|
| Shipped             | 05/2021    | 05/2021  | GOLDENDALE HATCHERY | 20,000 |     | 0                   | EGGS EYED  |
| Shipped             | 05/2021    | 05/2021  | MOSSYROCK HATCHERY  | 15,000 |     | 0                   | EGGS EYED  |

# **Estimated Release Data**

| Start Date | <b>End Date</b> | Num Release | FPP | <b>Total Pounds</b> | Life Stage | Release Site | Mark Type | Tagged |
|------------|-----------------|-------------|-----|---------------------|------------|--------------|-----------|--------|
|            |                 |             |     |                     |            |              |           |        |

Memo: Program implementation is dependent on legal authority and funding.

## **TOKUL CR HATCHERY**

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH PUGET SOUND

Brood Year: 2020

Species: Cutthroat

Run: Resident Coastal

Stock: EELLS SPRINGS HATCH STOCK

Brood Origin: HATCHERY

Integrated/Segregated:

|          | Total # | <b>Total Pounds</b> |
|----------|---------|---------------------|
| Egg Take |         |                     |
| Shipping |         |                     |
| Received |         |                     |
| Planted  | 5,500   | 11                  |

# **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

Shipped or Received Start Date End Date Facility Number FPP Total Pounds Life Stage

## **Estimated Release Data**

| Start Date | End Date | Num Release | FPP   | <b>Total Pounds</b> | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-------|---------------------|------------|--------------|-----------|--------|
| 07/2020    | 10/2020  | 4,000       | 500.0 | 8                   | JUVENILE   | REG 4 LAKES  |           |        |
| 07/2020    | 10/2020  | 1,500       | 500.0 | 3                   | JUVENILE   | REG 6 LAKES  |           |        |

Memo: Program implementation is dependent on legal authority and funding. Must be held on pathogen free water.

## **TOKUL CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH PUGET SOUND

Brood Year: 2020

Species: Cutthroat

Run: Westslope

Stock: TWIN LAKES CR45.1140

Brood Origin: HATCHERY

Integrated/Segregated:

|          | Total # | <b>Total Pounds</b> |
|----------|---------|---------------------|
| Egg Take |         |                     |
| Shipping |         |                     |
| Received | 3,500   | 4                   |
| Planted  | 3,500   | 4                   |

# **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

| Shipped or Received | Start Date | End Date | Facility        | Number | FPP   | <b>Total Pounds</b> | Life Stage |
|---------------------|------------|----------|-----------------|--------|-------|---------------------|------------|
| Received            | 07/2020    | 07/2020  | CHELAN HATCHERY | 3,500  | 900.0 | 4                   | JUVENILE   |

# **Estimated Release Data**

| Start Date | End Date | Num Release | FPP   | <b>Total Pounds</b> | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-------|---------------------|------------|--------------|-----------|--------|
| 08/2020    | 10/2020  | 3,500       | 800.0 | 4                   | JUVENILE   | REG 3 LAKES  |           |        |

Memo: Program implementation is dependent on legal authority and funding. Size of Fry and Stockers dependent on time and sponsors pick ups. Region 3 High lakes only. Excess will be extirpated and disposed on site.

# **TOKUL CR HATCHERY**

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH PUGET SOUND

Brood Year: 2021

**Species:** Cutthroat

Run: Resident Coastal

Stock: EELLS SPRINGS HATCH STOCK

Brood Origin: HATCHERY

Integrated/Segregated:

|          | Total # | <b>Total Pounds</b> |
|----------|---------|---------------------|
| Egg Take |         |                     |
| Shipping |         |                     |
| Received | 5,500   | 0                   |
| Planted  | 5,500   | 29                  |

# **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

| Shipped or Received | Start Date | End Date | Facility      | Number | FPP | <b>Total Pounds</b> | Life Stage |
|---------------------|------------|----------|---------------|--------|-----|---------------------|------------|
| Received            | 02/2021    | 03/2021  | EELLS SPRINGS | 5,500  | 0.0 | 0                   | EGGS EYED  |

# **Estimated Release Data**

| Start Date | End Date | Num Release | FPP   | <b>Total Pounds</b> | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-------|---------------------|------------|--------------|-----------|--------|
| 07/2021    | 10/2021  | 4,000       | 155.0 | 26                  | JUVENILE   | REG 4 LAKES  |           |        |
| 07/2021    | 10/2021  | 1,500       | 500.0 | 3                   | JUVENILE   | REG 6 LAKES  |           |        |

Memo: Program implementation is dependent on legal authority and funding. Must be held on pathogen free water.

## **TOKUL CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH PUGET SOUND

Brood Year: 2021

Species: Cutthroat

Run: Westslope

Stock: TWIN LAKES CR45.1140

Brood Origin: HATCHERY

Integrated/Segregated:

|          | Total # | <b>Total Pounds</b> |
|----------|---------|---------------------|
| Egg Take |         |                     |
| Shipping |         |                     |
| Received | 3,500   | 4                   |
| Planted  | 3,500   | 4                   |

# **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

| Shipped or Received | Start Date | End Date | Facility        | Number | FPP   | <b>Total Pounds</b> | Life Stage |
|---------------------|------------|----------|-----------------|--------|-------|---------------------|------------|
| Received            | 07/2021    | 07/2021  | CHELAN HATCHERY | 3,500  | 900.0 | 4                   | JUVENILE   |

# **Estimated Release Data**

| Start Date | End Date | Num Release | FPP   | <b>Total Pounds</b> | Life Stage | Release Site | Mark Type | Tagged |
|------------|----------|-------------|-------|---------------------|------------|--------------|-----------|--------|
| 07/2021    | 10/2021  | 3,500       | 800.0 | 4                   | JUVENILE   | REG 3 LAKES  |           |        |

Memo: Program implementation is dependent on legal authority and funding. Size of Fry and Stockers dependent on time and sponsors pick ups. Region 3 High lakes only. Excess will be extirpated and disposed on site.

# **WALLACE R HATCHERY**

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH PUGET SOUND

Brood Year: 2020

**Species:** Cutthroat

Run: Resident Coastal

Stock: EELLS SPRINGS HATCH STOCK

Brood Origin: HATCHERY

Integrated/Segregated:

|          | Total # | <b>Total Pounds</b> |
|----------|---------|---------------------|
| Egg Take |         |                     |
| Shipping | 3,000   | 150                 |
| Received |         |                     |
| Planted  | 18,000  | 900                 |

# **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

| Shipped or Received | Start Date | End Date | Facility           | Number | FPP  | <b>Total Pounds</b> | Life Stage |
|---------------------|------------|----------|--------------------|--------|------|---------------------|------------|
| Shipped             | 11/2020    | 11/2020  | BERNIE GOBIN HATCH | 3,000  | 20.0 | 150                 | JUVENILE   |

## **Estimated Release Data**

| Start Date | End Date | Num Release | FPP  | <b>Total Pounds</b> | Life Stage | Release Site        | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|---------------------|-----------|--------|
| 11/2020    | 11/2020  | 9,000       | 20.0 | 450                 | JUVENILE   | BLACKMANS LK (SNOH) |           |        |
| 11/2020    | 11/2020  | 9,000       | 20.0 | 450                 | JUVENILE   | LK MARGARET (KING)  |           |        |

Memo: Program implementation is dependent on legal authority and funding.

# **WALLACE R HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH PUGET SOUND

Brood Year: 2021

**Species:** Cutthroat

Run: Resident Coastal

Stock: EELLS SPRINGS HATCH STOCK

Brood Origin: HATCHERY

Integrated/Segregated:

|          | Total # | <b>Total Pounds</b> |
|----------|---------|---------------------|
| Egg Take |         |                     |
| Shipping | 3,000   | 150                 |
| Received | 30,000  | 120                 |
| Planted  | 18,000  | 900                 |

# **Estimated Brood Data**

**Egg Take Goal** 

# **Estimated Transfer Data**

| Shipped or Received | Start Date | End Date | Facility           | Number | FPP   | <b>Total Pounds</b> | Life Stage |
|---------------------|------------|----------|--------------------|--------|-------|---------------------|------------|
| Received            | 05/2021    | 05/2021  | ARLINGTON HATCHERY | 30,000 | 250.0 | 120                 | JUVENILE   |
| Shipped             | 11/2021    | 11/2021  | BERNIE GOBIN HATCH | 3,000  | 20.0  | 150                 | JUVENILE   |

# **Estimated Release Data**

| Start Date | End Date | Num Release | FPP  | <b>Total Pounds</b> | Life Stage | Release Site        | Mark Type | Tagged |
|------------|----------|-------------|------|---------------------|------------|---------------------|-----------|--------|
| 11/2021    | 11/2021  | 9,000       | 20.0 | 450                 | JUVENILE   | BLACKMANS LK (SNOH) |           |        |
| 11/2021    | 11/2021  | 9,000       | 20.0 | 450                 | JUVENILE   | LK MARGARET (KING)  |           |        |

Memo: Program implementation is dependent on legal authority and funding.